RHATFALN XFX BAHDE (z+a)(x+b) 01

1. XOXZRESREL. (SHk20F, Afk35®, Bik14r, C#145r40% )

(1) 22+ 546 (2) 22 —5x+6

3) 22 +5x—6 (4) x2 —bx—6

2. ROXZHNESHEX. (SH30F, A#s50, BR1530F, C#25 508 )

(1) 22 +3x+2 (2) 22— 9z + 20
(3) x? —4x — 12 (4) 22+ 3z —10
() 22—-11z+24 6) 22-2-30
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3. XRoOXENEMEEX. (SH20F, Af40F, BR13 108, C#H 15508 )

(1) 2%+ 8r + 12 (2) 2? — 10z + 16

(3) z2 4 4z — 12 (4) 2 —z—12

4. ROXEREBAE XK. (SHh32%, Ak55%, Bik1340%, C#%34)

(1) 22+4x+3 (2)  22-10z+21
(3) 22— 2 —15 (4) 22 + 51 — 14
(5) a2 —14x+24 6) 22+2-30
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RHTFALN XFX BEHDE (r+a)(z+b) 01 BEEHR

1. XOXZRESREL. (SHk20F, Afk35®, Bik14r, C#145r40% )

* 22 + (a + b)x + ab = (z + a)(z + b)
il &
@ 22OV TO BERERORKICEEALT, Z0HNBEEZS.
@ QOQOREDMDHI B, MMz DHEDFEEEFE L 225D % Ao 5.

(1) 22+ 5x+6 (2) 22 -5 +6
=22+ (2+3)x+2+3 =22+ (=2 -3)z+ (-2) - (-3)
=(z +2)(z + 3) =(z —2)(z —3)

(3) 22 +5x—6 (4) 22 -5 —6
=22+ (6—-1)z+6-(-1) =22+ (1—-6)z+1-(-6)
=(z+6)(z —1) = (z+1)(xz —6)

2. ROXZHESMBEE. (SH30F, AR50, BR14r30%, C#H 23508 )

(1) 22 +3x+2 (2) 22 — 92 420
=(x+1)(x+2) = (x —4)(x — 5)
(3) 22 —dx —12 (4) 22 +3x—10
=(x+ 2)(x — 6) =(x+5)(x—2)
(5) z? —1lx + 24 (6) 22 —2—30
= (x — 3)(xz — 8) = (x +5)(x — 6)
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3. XRoOXENEMEEX. (SH20F, Af40F, BR13 108, C#H 15508 )

(1) 2®2+8z+12 (2) 2?2—-10z+16
= (x+ 2)(x + 6) =(x — 2)(x — 8)

3) x? +4x — 12 (4) 22—z —12
=(x+6)(x —2) =(x+ 3)(x —4)

4. ROXEREBAE XK. (SHh32%, Ak55%, Bik1340%, C#%34)

(1) 22+42+3 (2 2?2-10x+21
=(x+1)(x+3) =(x—3)(x—T7)
(3) 22 —2x—15 (4) 22+ 5 — 14
= (x+ 3)(x —5) =(x+7)(x—2)
(5) 2% — 142+ 24 6) 2?2+2-30
=(x — 2)(x —12) = (x +6)(x —5)

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

